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] BASH #A/E T

cpl@area:~$ hw/ rw

x0 L pqg: 20 100 0.5 0.5 1F s FaphalE
got 20 100 0.5 0.5

s rate=0.799

t home=1231

t fall=2944.21

cpl@area:~$%$ echo 20 100 0.5 0.5|hw7 rw|grep '='

S rate=0.799 B

t home=1231 \\ » o H BT

t fall=2944.21

cpl@area:~$ eval "echo 20 100 0.5 0.5|hw7 rw|grep '='"
cpl@area:~$ echo -e "${x0}\t${s rate}\t${t home}\ts{t fall}"

100 0.799 1231 2944.21 ~\ L
cpl@area:~$ function prdt { f =g
> eval echo $1 100 0.5 0.5|hw7 rw|grep '='" KL

> echo -e "$1\t${s rate}\t${t home}\t${t fall}"; }
cpl@area:~$

cpl@area:~$ x0=1;while ((x0<100));do A L 7y 22
> prdt $x0;x0=%((x0+1));done>rw.txt LEENES
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